GUIDE WHEEL JOURNAL ASSEMBLIES Wﬂ .

PHONE: 516.328.3300  FAX: 516.326.8827 « WWW.SDP-S1.COM

> MATERIAL: HHWH
Journal - Stainless Steel .
Washers - Stainless Steel Metric
Wheel Locknut - Steel, Zinc Plated, Nylon Insert, Grade 2 0 10
Mounting Plate Locknut - Steel, Zinc Plated, Nylon Insert, Grade 8 ®
DUAI.&VEE
> SPECIFICATION:
Metric equivalent of Inch Component
A X17-...
MOUNTING
PLATE
LOCKNUT
WHEEL PONPION < Wmax MOUNTING
FASTENER ot o Winin fe ATE MOUNTING
THREAD I 1 —@D THREAD PLATE
—‘ L ) ¥ ( WASHER

(an) Wil i I s
\@} B wz:::;

o }\—/
[ I WHEEL
NS WASHER —
WHEEL
-+ H |[= HEX SIZE LOCKNUT
fa— [ ——
- L
METRIC COMPONENT
D* d
. EC H 1 L |Outside Journal|Mounting| Wheel |  w;
Catalog Number Size| g o¢| Head [Clearance|Overalll Dia. | Dia. | Plate  |F Adjustment
Height| Length |Length| o 0 | Thread®| Thread®| Flat Width
0.018 | -0.05
A 7X17MJA0* 0 (0254 6.35]| 16.13 35.05 3.99 6.35 | 1/4-28 #8-32 3.18
A TX1TMJF0* 0 - 6.35| 16.13 35.05 3.99 6.35 | 1/4-28 #8-32 3.18
A 7X17MJA1 1 10.305| 6.35[ 17.65 36.58 4.76 6.35 | 1/4-28 | #10-32 3.18
A TX17TMJF1 1 - 6.35| 17.65 36.58 4.76 6.35 | 1/4-28 | #10-32 3.18
A 7X17MJA2 2 [0.61 7.04| 2454 51.56 9.52 953 | 3/8-24 |5/16-24 6.35
A TX17MJF2 2 - 7.04| 2454 51.56 9.52 953 | 3/8-24 |5/16-24 6.35
A 7X17MJA3 3 [1.067| 953| 3239 64.26 | 11.99 1.1 7/16-20 | 7/16-20 6.35
A TX17TMJF3 3 - 9.53| 32.39 64.26 | 11.99 1.1 7/16-20 | 7/16-20 6.35
A 7X17MJA4 4 [1524] 111 39.04 7122 | 15 127 1/2-20 1/2-20 7.92
A 7X17MJF4 4 - 1.1 39.04 7722 | 15 12.7 1/2-20 1/2-20 7.92
Catalog Numb Mounting Hardware Supplied<>
atalog Number . Hex Plate Width | Weight - -
(Ref.) Size | gize o | Wheel | Wheel Mounting | Mounting
Winax Wanin Washer | Locknut Washer | Locknut
A 7X17MJA0 0 3/8 9.53 3.18 14 #8 1/4 Flat 1/4
A TX17TMJF0 0 3/8 9.53 3.18 14 B #8 Washer 1/4
A TX1TMJA1 1 716 9.53 3.18 16.1 #8 Flat #10 1/4 Flat 1/4
A 7X1TIMJF1 1 716 9.53 3.18 16.1 | Washer #10 Washer 1/4
A TX17TMJA2 2 |96 | 127 475 45.7 | 5/16 Flat 5/16 3/8 Flat 3/8
A TX1TMJF2 2 |96 | 127 475 45.7 | Washer 5/16 Washer 3/8
A 7X17TMJA3 3 3/4 | 15.88 6.35 78 7/16 Flat 716 7/16 Flat 7/16
A TX1TMJF3 3 3/4 | 15.88 6.35 78 Washer 716 Washer 7/16
A TX1TMJA4 4 7/8 | 19.05 9.53 133.1 1/2 Flat 1/2 1/2 Flat 1/2
A 7X1TMJF4 4 7/8 | 19.05 9.53 133.1 | Washer 1/2 Washer 1/2

* Diameter Tolerance: 0/-0.013
¢ Inch Designation.




